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Subject: Written Examination for the posts of Lecturer(s) [Arabic, Geology
and Dogri] in the School Education Department - Provisional Answer
Key(s) thereof.

Notification No. PSC/Exam/S/2025/35
Dated: 29.09.2025

In pursuance of Rule 10(c) of the Jammu & Kashmir Public Service Commission
(Conduct of Examination) Rules, 2022, as amended upto date, the Provisional Answer
Keys of Question Papers pertaining to the written examinations for the posts of
Lecturer(s) [Arabic, Geology and Dogri] in School Education Department, held
on 29.09.2025 (Forenoon Session), are hereby notified for seeking the objections
from candidates. :

Provisional Answer Key

(Arabic)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 C Q12 C Q23 A
Q2 D Q13 B Q24 C
Q3 o Q14 A Q25 D
Q4 D Q15 D Q26 A
Qs A Q16 B Q27 B
Q6 B Q17 D Q28 C
Q7 B Q18 D Q29 D
Qs B Q19 C Q30 B
Q9 C Q20 A Q31 B
Q10 B Q21 D Q32 D
Q11 C Q22 C Q33 C
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Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q34 C Q57 C Q80 C
Q35 A Q58 D Q81 C
Q36 B Q59 A Q82 B
Q37 C Q60 D Q83 C
Q38 C Q61 C Q84 D
Q39 B Q62 B Q85 C
Q40 A Q63 B Q86 C
Q41 A Q64 C Q87 A
Q42 B Q65 D Q88 B
Q43 D Q66 A Q89 B
Q44 B Q67 B Q90 A
Q45 D Q68 C Qo1 A
Q46 c Q69 B Q92 C
Q47 B Q70 B Q93 D
Q48 C Q71 C Q94 B
Q49 A Q72 A Q95 D
Q50 C Q73 D Q96 c
= Q51 A Q74 B Q97 C
M Q52 B Q75 C Q98 C
Q53 D Q76 B Q99 C
Q54 D Q77 D Q100 C
Q55 C Q78 C
Q56 D Q79 B
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Provisional Answer Key

(Geology)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 B Q35 D Q69 A
Q2 A Q36 B Q70 C
Q3 A Q37 D Q71 A
Q4 B Q38 A Q72 C
Q5 A Q39 B Q73 D
Q6 D Q40 D Q74 A
Q7 D Q41 A Q75 B
Q8 C Q42 (o Q76 c
Q9 A Q43 B Q77 A
Q10 C Q44 D Q78 D
Q11 A Q45 C Q79 B
Q12 D Q46 A Q80 C
Q13 B Q47 D Q81 A
Q14 C Q48 B Q82 B
Q15 A Q49 C Q83 C
Q16 A Q50 A Q84 B
Q17 A Q51 D Q85 D
Q18 A Q52 C Q86 C
Q19 B Q53 D Q87 A
Q20 A Q54 B Q88 D
Q21 D Q55 C Q89 A
Q22 B Q56 D Q90 B
Q23 A Q57 A Q91 o
Q24 D Q58 C Q92 A
Q25 B Q59 D Q93 D
Q26 D Q60 B Q94 B
Q27 C Q61 A Q95 D
Q28 D Q62 D Q96 A
Q29 B Q63 A Q97 B
Q30 C Q64 C Q98 C
Q31 D Q65 B Q99 D
Q32 A Q66 D Q100 B
Q33 C Q67 B

Q34 B Q68 D
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D)

Provisional Answer Key

(Dogri)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 B Q35 C Q69 A
Q2 C Q36 A Q70 B
Q3 A Q37 B Q71 B
Q4 A Q38 C Q72 A
Q5 B Q39 B Q73 B
Q6 C Q40 B Q74 A
Q7 A Q41 C Q75 D
Q8 A Q42 A Q76 B
Q9 D Q43 A Q77 D
Q10 B Q44 A Q78 A
Q11 D Q45 D Q79 B
Q12 A Q46 B Q80 D
Q13 B Q47 D Q81 C
Q14 D Q48 D Q82 A
Q15 B Q49 B Q83 B
Q16 B Q50 D Q84 C
Q17 B Q51 A Q85 A
Q18 C Q52 B Q86 D
Q19 C Q53 A Q87 A
Q20 A Q54 A Q88 C
Q21 D Q55 B Q89 D
Q22 B Q56 C Q90 B
Q23 A Q57 A Q91 C
Q24 A Q58 D Q92 B
Q25 C Q59 D Q93 C
Q26 A Q60 B Q94 A
Q27 A Q61 A Q95 D
Q28 C Q62 B Q96 B
Q29 D Q63 D Q97 B
Q30 A Q64 A Q98 C
Q31 D Q65 A Q99 A
Q32 B Q66 C Q100 D

Q33 B Q67 A

Q34 D Q68 B
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The candidates are advised to refer to Question Booklet (Series A) to match
the corresponding question(s) in their respective Question Booklet Series and if any
candidate feels that the key to any of the question(s) is/are wrong, he/she may represent
on prescribed format/proforma annexed as Annexure-A along with the documentary
proof/evidence (hard copies only) and fee of Rs.500/- per question in the form of
Demand Draft drawn in favour of COE, J&K PSC (refundable in case of genuine/correct
representation) to the Controller of Examinations, Jammu & Kashmir Public Service
Commission, from Tuesday i.e. 30.09.2025 to 06.10.2025. The candidates are further
advised to clearly mention the question(s) objected to with reference to its
serial number as it appears in the Question Booklet of Series A of the
provisional answer key(s).

Any objection/application not accompanied by the requisite Demand Draft of
Rs.500/- as prescribed, shall not be considered/entertained under any circumstances.
Candidates are, in their own interest, advised to adhere to these instructions and not
submit any objection unaccompanied by the Demand Draft as required under extant
rules. The Commission shall not entertain any such representation(s) after the expiry of
the stipulated period i.e. after 06.10.2025 (Monday), 05.00 pm.

Further, objection(s) submitted in any other mode will not be entertained.

The provisional answer key(s) are also available on the website of the Commission

http://www.jkpsc.nic.in.
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(Sachin Jamwal) JKAS

Controller of Examinations
ﬂJ&K Public Service Commission

/
No. PSC/Ex-Secy/2025/21 Dated: 29.09.2025
Copy to the: -

1. Director, Information and Public Relations, J&K for publication of the notice in all
leading newspapers published from Jammu/Srinagar.

2. P.S. to Hon’ble Chairman, J&K Public Service Commission for information of the
Hon'ble Chairman.

3. P.S. to Hon'ble Member, Shri for information of the
Hon'ble Member.

4. P. A. to Secretary, J&K Public Service Commission for information of the Secretary.

Main file/Stock file/Notice Board.

ul
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Annexure-A

Representation regarding objection(s) to any Question/Answer pertaining to
the Written Examination conducted for the posts of Lecturer(s) [Arabic,
Geology and Dogri) in School Education Department held on 29.09.2025
(Forenoon Session).

(NOTE: USE SEPARATE FORMS FOR SEPARATE QUESTIONS)

Discipline:

Name of the Applicant:
Roll No. :

Correspondence Address :
Contact/Mobile No. :

Date of Application: 2025

Demand Draft Details: No. Date Amount
Candidates Account No.(16 digit) & IFSC Code :

Question Details of the Objection Resource Material | Details of the
No. in (copy to be Website
Series A enclosed) (if any)

Correct Answer/Option as per candidate :

Signature of the Candidate

Note : Application for each question/answer shall be made on separate page in the
given format, otherwise the first question entered in the format shall only be
considered.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

Booklet Serial No. 315093

TEST BOOKLET
LECTURER - (10+2)
ARABIC
WRITTEN TEST - 2025

(31)

Test Booklet Serizs

Time Allowed: Two Hours Maximum Marks: |

00

11.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN [OR
MISSING PAGES OR ITEMS, ETC. IF SO, GETIT REPLACED BY A COMPLETE TEST BOOKLET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll Numper
and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepapcy
at the appropriate places in the OMR Answer /Response Sheet. Any omission/discrepahcy

will render the Response Sheet liable for rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

This Test booklet contains 100 items (questions). Each item comprises of four responses (answe
You will select the response which you want to mark on the Answer Sheet/Response Sheet. In g
you feel that there is more than one correct response, mark the response which you consider
best. In any case, choose ONLY ONE response for each item.

1s).
ase
the

You have to mark all your responses ONLY on the separate Answer /Response Sheet provided. [See

directions in the Response Sheet.
Al items carry equal marks.
Before you proceed to mark in the Answer /Response Sheet, the response to various items in

the

Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instructipns

sent to you with your Admission Certificate.
After you have completed filling in all your responses on the Response Sheet and the examinat
has concluded, you should hand over to the Invigilator enly the Answer /Response Sheet. You
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response She
Sheets for rough work are appended in the Test Booklet at the end.

While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Sheef

appropriate boxes use “ONLY BALL POINT PEN”.

Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY T
CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPERS
(i)  There are four alternatives for the answer to every question. For each question for whig

ion
are
er .

HE
).
h

wrong answer has been given by the candidate, (0.25) of the marks assigned to that quesfion

will be deducted as penalty.
(i)  Ifacandidate gives more than one answer, it will be treated as a wrong answer even if one of]
given answers happens to be correct and there will be same penalty as above for that questio;

(iii) Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
[P.T.O. 2025/(51)

the
1.
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A)  The American representative hoped to reach an agreement in Gaza byf the
end of this week.

B)  The American representative hoped to reaching an accord in Gaza by the
end of running week.

C) The American representative hoped for an agreement in Gaza by the |end
of this week.

D) The American envoy expressed hope for reaching an agreement in Gaza

by the end of current week.
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A)  The rate of the dollar is rising again against the Egypt pound.
B)  The price of dollar is rising again before the pound of Egypt.
C)  The price of dollar is rising once again before the Egypt pound.

D)  The value of dollar is rising once again as compared to the Egypt pound.
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67. The death of two teenagers in an accident near Srinagar highlights the issue of

fatal road accidents which points to a flawed road safety and traffic

management system.
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68. The minister explained that urban development has historically marginalised

Hong Kong's agriculture and fisheries, but modern technology now offers a

chance for the densely—populated city to revisit these industries.
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69. Remarkable innovations emerge from research labs every year, creating

unprecedented opportunities to address humanity's greatest challenges.
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A) My friend came back and told
B) My friend returned and said
C) My friend again said
D) My friend returned saying
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1.  The focus of an earthquake is:

A)

B)
)
D)

2.  Which of the following is most likely to account for Acid mine drainage:

A)
B)
©)
D)

The concentric layers of earth’s interior from surface to its centre are:

The point on the land surface vertically above the actual position of the earthqu;
shock

The actual location of the earthquake shock below ground surface
Measure of amplitude of an earthquake wave

Measure of destruction caused by an earthquake

Natural oxidation of sulphide minerals
Natural reduction of Iron hydroxyl
Natural Oxidation of bicarbonates

None of the above

ke

A) Crust, mantle, and core
B) Core, mantle, and crust
C) Core, mantle, and lithosphere
D) Mantle, crust, and core
4. The gradualistic idea for natural landscape evolution that “the present is the key tp the
past”, is an integral part of:
A) Concept of Catastrophism
B) Concept of Uniformitarianism
C) Concept of hydrochemical facies
D) Concept of magmatic fractionation
5.  The process of weathering is mostly
A) Anin-situ process
B) Anendogenic process
C) A diastrophic process
D) Involves large scale transportation by an agent
(62) (A) 3) [AT.O.




6.  Which amongst the following is the slowest process of mass movement?

A) Earth flow

B) Mud flow
C) Debrisavalanche
D) Creep

7.  Epeirogenic movements are most likely to be associated with:
A) Convergent horizontal forces
B) Divergent horizontal forces
C) Strike slip horizontal forces

D) Large scale vertical movements

8. High Concentrations of Radon in indoor environments is one of the leading causes of :
A) Goitre
B) Hyponatremia
C) Lung Cancer
D) Filariasis

9. A thin layer of Limonitic clay associated with a high concentration of iridium is most
likely to be associated with:

A) Cretaceous-Tertiary boundary

B) Precambrian-Cambrian boundary
C) Pliocene-Pleistocene boundary
D) None oftheabove

10. Aring-shaped coral reef that encloses a lagoon, without any land inside is most likely to
be referred to as:
A) Fringing Reef
B) Barrier Reef
C) Atoll Reef
D) None ofthe above

(62) (A) @)




11. The fluvial erosional process involving rounding and shaping of pebbles and boulders
amongst themselves is most likely referred to as:

A)  Attrition
B) Abrasion
C) Corrosion

D) Hydraulic action

12. Select the sequence where all are fluvial depositional land form:
A)  Alluvial Fan; River Terraces; Flood Plains and Gorges
B) Alluvial Fan; River Terraces; Flood Plains and Canyons
C) Alluvial Fan; River Terraces; Flood Plains and pot hole

D) Alluvial Fan; River Terraces; Flood Plains; Deltas

13. Exfoliation mostly relates with:
A) Chemical weathering
B) Physical weathering
C) Biological weathering

D) Flurosis process

14. Which one of the following is not an acolian erosional landform:
A) Yardangs
B) Rock Mushroom
C) Cirques
D) Inselbergs

15. Ifstreams are offset in directions that opposes the regional slope, the cause of the gffset:
A) Ts more likely to be related with tectonic causes
B) Inno circumstances, it can be related with tectonic causes
C) [Ismore likely to be related with erosional activity

D) Ismore likely to be related with depositional activity

(62) (A) 5 [H.T.O.




16. Stalagmites in a Karst topography are:
A)  Mineral formations growing up on floors of the caves
B) Mineral formations hanging down from roof of the caves
C) Shaft-like hole in limestone terrain

D) None ofthe above

17. The mapping of marine magnetic anomalies in relation to the Mid Oceanic Ridges:
A) May be most appropriately used to approximately estimate rate of sea floor spreading

B) May be most appropriately used to approximately estimate rate of the rise of the
Himalaya

C) May be most appropriately used to approximately estimate rate of the erosion in
the Himalaya

D) All ofthe above

18. Which one of the following is most appropriately related to the continental shelf:
A) Itis continuation of coastal land or continental margins
B) Itis continuation of oceanic crust
C) [Itslopes steeply up to 60°
D) They are found along diverging plate boundaries

19. Semi-enclosed coastal areas that are partially surrounded by land and open to the sea on
one side, are most likely to be referred as:
A) Foreshore
B) Bays
C) Beaches
D) None ofthe above

20. The tectonic setting of today’s Himalayas, a young fold mountain is characterized by:
A) Collision of two continental plates
B) Collision of two oceanic plates
C) Subduction of an oceanic plate under a continental plate

D)  Subduction of a continental plate under an oceanic plate

(62) (A) ©)




21.

22,

23.

24.

25,

Which amongst the followings is not true about a homogenous deformation:
A) The strain must be systematic across the body that has been deformed
B) The strain must be uniform across the body that has been deformed

C) Lines that are parallel in a body before deformation remain so after deformzltion

D) Straight line that exists in the non-rigid body before deformation, be¢

elliptical and curved after deformation

In an oblique slip fault, the slickenside striations on the fault plane can have a pitch
of:

1. 902

il =507

Which of the following is correct in context of the above statements:
A) Statement (i) is true and (ii) is false

B) Statement (ii) is true and (i) is false

C) Both statements are true

D) Both statements are false

A very low angle fault, where the hanging wall moves up relative to the foot wall
the best be described as:

A)  Thrust faults

B) Normal faults

C) Strike slip faults
D) None ofthe above

An unconformity where tilted or folded formations are overlain by younger,
horizontal formations, can be most appropriately classified as a:

A) Disconformity

B) Nonconformity

C) Paraconformity

D) Angular Unconformity

A line joining points of maximum curvature on a folded surface is:
A) Foldlimb

B) Foldhinge

C) Axial Pane

D) None of the above

ome

value

pan at

more
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26. Match the following:

Structures/spatial orientation/ Structures/spatial orientation/rocks/
processes process linked environment
1. Foliation I. Plunge

2.  Mylonitization II. Cleavage
3o lucd [ll. Faultrock
4.  Gouge and breccia V.

Choose the Correct Option:

A) 11, 2-10, 3101 41V

B) 11, 2-1V, 3-11, 4-1

C) 100,240, 3-1, 4-1IV

D) 1-1, 2-1V, 3-I, 4-11

High strain environment

27. Z-shaped kink folds can most appropriately be called as:
A) Conjugate kinks
B) Sinistral Kinks
C) Dextral Kinks
D) None ofthe above

28. Ator near the surface of the earth, mostly the strike slip faults form when:

i.  The direction of the greatest principal stress axis (o, ) is vertical

ii.  The direction of the intermediate principal stress axis ( o, ) is horizontal
Choose the Correct Option:

A) Statement (i) is true and (ii) is false

B) Statement (i) is true and (i) is false

C) Both statements are true

D) Both statements are false

29. With a few exceptions, in general, the cleavage plains cut bedding discordantly and is
commonly:

A) Penetrative only at outcrop but not at microscopic scale
B) Penetrative at outcrop and microscopic scale both

C) Neither penefrative at outcrop nor at microscope scale
D) None ofthe above

(62) (A) (8)



30.

31.

32,

33,

34.

(62) (A)

Which of the following is most appropriately true about kink folds?
A) They are marked by curved hinges and symmetric limbs

B) They resemble circular folds

C) They deform pre-existing foliations

D) None ofthe above

Which of the following is an example of restraining structure designed for contr¢lling

landslides:

A) Boudins

B) Myrmekite structure
C) Rapakivi structure
D) Retaining walls

Which one of the following has proved most effective in reducing percolation of
through foundation of dams:

A)  Grouting

B) Contour bunds

C) Terracing

D) None ofthe above

Consider the following Statements:
Assertion (A): The compressive strength of a sandstone is also influenced

porosity
Reasoning (R): The porosity may be defined as a ratio of the volume of rock
volume of interconnected pores.

Choose the Correct Option:

A) Both, A and R, are true and R is the correct explanation of A.

B) Both, A and R, are true but R is not the correct explanation of A.
C) Aistrue but R is false.

D) A is false but R is true.

Which of the following is not related to the piping failure in the earth dams:
A) Itoccurs when the hydraulic gradient is high, that is, when there is a rapid |§
head over a short distance

B) It occurs when the hydraulic gradient is low, that is, when there is a very les
of head over a short distance.

water

by its

to the

hss of

s loss

C) It is on account of erosive action by the seeping water leading to subsphrface

cavities and tunnels.
D) It weakens the dam’s stability, eventually leading to a collapse or breach.

) [§.T.O.




35

36.

3.

38.

39.

40.

Which one of the following is not directly related and least likely to impact ‘overbreak’
during tunneling:

A) Rock types

B) Rock discontinuities

C) Excavation method

D) Kappa coefficient

For estimation of the Unconfined Compressive Strength (UCS) of rocks, the rock
specimen is loaded:

A) Along their transverse axis, without lateral restrain

B) Along their longitudinal axis, without lateral restraint

C) Along their longitudinal axis, with necessary lateral restraint
D) Along their transverse axis, with necessary lateral restrain

Which one of the following is not likely to be directly linked to an earthquake hazard:
A) Landslides

B) Liquefaction

C) Tsunami

D) Ergonomic hazards

Dam’s axis is preferably selected along:

A) Direction perpendicular to the strike of geological formation
B) Direction parallel to the strike of geological formation

C) Direction perpendicular to dip of geological formation

D) None ofthe above

From oldest to youngest, the correct sequences of periods is:
A) Permian, Jurassic, Triassic, Cretaceous
B) Permian, Triassic, Jurassic, Cretaceous
C) Cretaceous, Jurassic, Triassic, Permian
D) Cretaceous, Permian, Triassic, Jurassic

Which one of the following is not a conventional unit of litho-stratigraphy:
A)  Group

B) Formation

C) Member

D) Biozone

(62) (A) (10)




41.

42.

43.

44.

45.

Dendritic drainage patterns mostly emerge in locations:
A) Underlain by homogenous material, without any structural control
B) With steep slopes or structural controls

C) Where joints and faults intersect at a 90 angle

D) With elevated centre point, most common in conical features like volcanoes

The branch of palacontology that deals with the processes of fossilization is:
A)  Chrononomy

B) Technonomy

C) Taphonomy

D) Mythonomy

Which one of the following is not a Gondwana plant fossils of India?
A)  Gangamopteris

B) Sivatherium giganteum

C) Glossopteris

D) Ptilophyllum

An individual lithofacies represents an individual depositional event and is a rooT( unit

mostly defined on the basis of its distinctive:

A) Lithologic features, fossil component, Dispersive characteristics] and

sedimentary structures.

B) Lithologic features, composition, grain size, advective characteristic, and

sedimentary structures.

C) Lithologic features, composition, grain size, diffusivity, and sedimgntary

structures.

D) Lithologic features, composition, grain size, bedding characteristics, and

sedimentary structures.

Sivapithecus primates’ fauna is most appropriately associated with which one fof the

following formations:
A) Upper Gondwana
B) Lower Gondwana
C) Lower Siwalik

D) Lower Lameta

(62) (A) (11)
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46.

47.

48.

49.

50.

Sediments formed by the weathering, erosion, and transportation of pre-existing rocks,
are most appropriately referred to as:

A) Clastic sediments

B) Chemical sediments

C) Biochemical sediments
D) None ofthe above

Which of the following is not correct about Diagenesis:

A) Tt is a process involving physical and chemical changes in sediments after their
deposition

B) It is caused by water-rock interactions, microbial activity, together with
compaction

C) Itexcludes surface alteration (weathering) and deep metamorphism.

D) Itincludes surface alteration (weathering) and deep metamorphism.

On the Wentworth grain size scale for sediments, the size of sand is in the range of:

A) L : Millimetres
256 6

1
B) Te lo 2 Millimetres

C) 2to4 Millimetres
D) 4 to 8 Millimetres

Beds that show gradation from coarser particles at the base to finer particles at the top
are most appropriately classified as:

A) Akind of cross bedding without reverse grading

B) A kind of graded bedding with reverse grading

C) Akind of graded bedding with normal grading

D) Akind of massive bedding without a normal grading

Cross-bedding forms primarily by:
A) Migration of ripples and dunes in water or air

B) Very rapid deposition from very highly concentrated sediment suspension during
sediment-gravity flows

C) Very rapid deposition from very highly concentrated sediment dispersions during
sediment-gravity flows

D) Eddies and whirlpool systems

(62) (A) (12)



51.

52.

S3.

54.

55,

(62) (A)

The presence of gneissic rock fragments in a sedimentary rock indicates:
A) Source area to be of the plutonic igneous rock

B) Source area to be of the volcanic igneous rock

C) Source area to be of the carbonate rocks

D) Source area to be of the metamorphic rocks

Typically, compositionally immature sandstones containing more than 25%
fragments and more rock fragments than feldspar, which originated under condi

Fock
ons

favoring the production and deposition of large volumes of relatively unstable mategials,

can most suitably be referred as:
A) Quartz arenite

B) Quartz wackes

C) Lithic arenite

D) None ofthe above

The Chert rocks are:

A) Siliceous sedimentary rocks

B) Fine-grained, dense, and very hard

C) Predominantly ofthe SiO, minerals quartz chalcedony, and opal
D) All ofthe above

The statement that the vertical succession of facies reflects lateral changes i
sedimentary environment most closely relates to:

A) Piper’s law of facies
B) Walther’s law of facies
C) Thompson’s law of facies

D) Eskola’s law of facies

Which of the following is an example of metamorphic rock:
A) Basalt

B) Granite

C) Crenulated Phyllite

D) Limestone

n the
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oY

58,

59.

60.

Which of the following is an agent of metamorphism:
A) Heat

B) Pressure

C) Chemically active fluids like hot water

D) Allofthe above

When substantial chemical change accompanies metamorphism, involving introduction
or removal of chemical elements by fluids; most appropriately the process is called as:

A) Metasomatism
B) Fractional crystallization
C) Assimilation

D) Dissemination

Which of the following is true about the process of metamorphism:
A) Itdoes notinvolve changes in the mineral content/composition
B) Itdoes not involve any changes in microstructure of a rock

C) Dominantly the changes are in solid state

D) Itinvolves fractional crystallization

Which one of the following is the lowest grade metamorphic facies developed in a regional
terrane:

A) Eclogite facies
B) Granulite facies
C) Blue Schist facies

D) Green Schist facies

Metamorphism of local extent that affects the country rocks around a magma body is
most appropriately described as:

A) Regional metamorphism
B) Contact metamorphism

C) Burial metamorphism

D) Retrograde metamorphism

(62) (A) (14)




61.

62.

63.

64.

65.

The clockwise P-T-t paths observed in a metamorphic terrain mostly indicates:
A) Crustal thickening

B) Crustal thinning

C) Calcification

D) None ofthe above

The crystals in the rock are readily visible with the naked eye, in such case, the most

appropriate description of the texture would be:
A) Aphanitic

B) Glassy

C) Fragmental

D) Phaneritic

Carbonatite is:

A) Anlgneous rocks

B) A metamorphicrock
C) A Sedimentray rock
D) None ofthe above

Which one of the following is a felsic alkaline volcanic igneous rock with alkali feldlspar

and nepheline?
A) Basanite
B) Leucitite
C) Phonolite
D) Picrite

Two formations with same porosity but different grain sizes are most likely to hay

A) Same value of specific yield
B) Different value of specific yield
C) Same value of specific retention

D) Same value of specific storage

(62) (A) (15)
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66.

67.

68.

69.

70.

The upper surface of the zone of saturation in an unconfined aquifer is most appropriately
referred to as:

A) Piezometric surface
B) Basal surface

C) Bathymetric surface
D) Water table

The base flow contribution to a stream during non-monsoon season is generally observed
in:

A) Influent streams

B) Effluent streams

C) Insulated streams

D) Disconnected streams

Which of the following is one amongst a set of assumptions desired for solution of
unsteady radial flow condition in a confined aquifer using Theis equation:

A) Aquifer is homogenous

B) Aaquifer is isotropic

C) Well, is pumped at constant discharge
D) Alloftheabove

For estimating drawdown in a pumping well at a time, we need to subtract the static
depth to water level before pumping from:

A) The depth to water level in the pumping well at the time
B) The radius of influence at the time

C) The diameter of the cone of depression at the time

D) The position of the submersible pump at the time

The average linear/interstitial velocity of a tracer travelling through an aquifer with
effective porosity of 0.25, was observed to be 0.2m/minutes, under the influence of
0.05 hydraulic gradient. Which of the following would be the estimated hydraulic
conductivity of the aquifer:

A) 100 m/minute
B) 10 m/minute
C) Im/minute
D) 4 m/minute

(62) (A) (16)




71. For analysis of the pumping test data pertaining to non-equilibrium flow from observaltion
well near to a pumping well in a confined aquifer, which of the following methods pises

log-log graph paper:

A)
B)
0
D)

Theis method
Theim’s method
Jacob’s method

Walton’s method

72. In an unconfined coastal aquifer, where the water table lies above sea level and slppes
towards sea, as per the Ghyben-Herzberg relation for fresh-saline water equilibriupn in

the aquifers, the fresh-saline interface is:

A)
B)

©

D)

73. Give below is the general equation for

Km@}E[K} ah]+—a~[f{7 5?}+W:SS ok

-
A)
B)
Q)
D)

At depth of about forty times the depth of fresh water table below land surfade

At height of about Forty times the height of the fresh water table above thaf sea
level :

At depth of about Forty times the height of the fresh water table above thg sea
level

At the same depth as the height of the fresh water table above the sea level

ox) al Poy) o ot

Three-dimensional groundwater flow under non equilibrium condition

S

Groundwater flow through heterogeneous media
Groundwater flow through anisotropic media
All ofthe above

74. In context of numerical groundwater flow modelling using MODFLOW the

‘Stress period’ must be defined and data incorporated accordingly:

A)
B)
)

D)

(62) (A)

For simulation of groundwater flow under transient condition
For simulation of groundwater flow under steady state condition

For simulation of groundwater flow under steady state condition using analytical
approach

For simulation of groundwater flow using Theis analytical solution.

(17) [P{T.O.




13,

76.

Tl

78.

As per Darcy’s law

dh
=—KxAx—
Q x Ax 7l

The negative sign in the above equation:
A) Indicates that the flow of water is in the direction of increasing head
B) Indicates that the flow of water is in the direction of decreasing head

C) Indicates that the flow of water is independent of change in head

D) None ofthe above

The equation for steady state radial flow to a tubewell in an unconfined aquifer derived
with the help of Dupuit’s assumptions can be used to estimate:

A) Specific Yield

B) Specific storage

C) Hydraulic conductivity
D) Allofthe above

For a linear array of five piezometers in a confined aquifer separated by 100 meters
each in east-west direction, a line joining the data plots of piezometric head versus
distance would be:

A) Straight line

B) Parabolic line
C) Hyperbolic line
D) Circular line

The band of satellite based remote sensing that is most effectively used to differentiate
between vegetation, soil and water is:

A) Red
B) Green
C) Blue

D) NearInfra-Red

(62) (A) (18)




79. The ratio of the electromagnetic energy reflected or diffused by a surface to the fotal

80.

81,

82.

incident energy is most appropriately referred to as:
A) Radiance

B) Albedo

C) Rayleigh Scattering

D) Attenuation

Rock’s spectral reflectance helps in their identification using a remote sensing ima
and it:

A) Primarily depends on their organic matter content
B) Primarily depends on their texture
C) Primarily depends on their mineral composition

D) Primarily depends on their structure

Remote sensing using energy naturally reflected or radiated from any object is
appropriately referred to as:

A) Passive Remote Sensing
B) Active Remote Sensing
C) Radio Detection and Ranging

D) None of the above

PerY,

most

Which of the following refers to the numbers computed by dividing the number of sream

segments of a given order by the number of stream segments of the next higher org
the watershed?

A) Burn Ratio
B) Bifurcation Ratio
C) Wandering Ratio

D) None ofthe above

er in
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83. The ratio of total length of channels of all orders in the basin to the drainage area of the
basin is referred to as:

A) Stream frequency
B) Drainage texture
C) Drainage density
D) Circulatoryratio

84. Graphite deposits are mostly of:
A)  Sedimentary Origin j
B) Metamorphic Origin
C) Volcanic Origin
D) None oftheabove

85. Which of the following deposits mostly have direct genetic association with mafic to
ultramafic rocks:

A) Placer gold deposit
B) Gypsum deposits |
C) Chalk deposits

D) Platinum deposits

86. Galena is the most important and common ore of:

A) Zinc
B) [Iron |
C) Lead
D) Gold

87. Which ofthe following deposit is primarily associated with the Gondwana basin of eastern

and central India:
A) Coal
B) Lead
C) Zine

D) Silver

(62) (A) (20)



88. A petroleum reservoir is desired to have which one of the following properties:
A) Itshould be sufficiently porous and impermeable
B) Itneed notbe porous, but has to be impermeable
C) Itshould not be porous and permeable

D) Itshould be sufficiently porous and permeable

89. The characteristics of a chemical substance to crystallize in more than one form, that is
when a mineral can exist in different crystal forms, even though its chemical forpula

remains the same, is referred to as:
A) Polymorphism

B) Isomorphism

C) Enantiomorphism

D) Monomorphism

90. Pearly lustre is most likely to be observed in which of the following minerals?

A) Diamond
B) Talc
C) Zircon

D) Tourmaline

91. In Mica minerals, the cleavage occurs along planes between sheets or multiple sheets

(layers) of atoms and the cleavage is parallel to basal plane of the mineral, which
apart like pages of a book, such cleavage is referred to as:

A) Prismatic cleavage
B) Cubiccleavage
C) Basalcleavage

D) Octahedral cleavage

(62) (A) (21) [P
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92. Feldspars, quartz, the feldspathoids and the zeolite group minerals are most likely to
have which one of the following silicate structure classes:

A)
B)
S
D)

Tectosilicates
Phyllosilicates
Nesosilicates

Sorosilicates

93. Hornblende is a very common mineral of which of the following mineral group:

A)
B)
0
D)

Pyroxene Group
Garnet Group
Mica Group
Amphibole Group

94, Which one of the following minerals in a hand specimen can be transparent colorless
mineral, with vitreous lustre, rhombohedral cleavage, and with hardness of three:

A)
B)
)
D)

Diamond
Calcite
Quartz
Mica

95. The angle between any two adjacent faces of a crystal is referred to as:

A)
B)
©)
D)

Interlimb angle
Cannulation angle
Extinction angle

Interfacial angle

96. Which of the following crystal systems does not have any axis of symmetry?

A)
B)
©)
D)

(62) (A)

Triclinic system
Orthorhombic system
Isometric system

All of the above

22)




97. The free-air correction to a measured gravitational acceleration data in field:

A)

B)

©)

D)

Necessarily considers the density of the material between the measured elevajion

and the ellipsoid

Does not consider the density of the material between the measured elevation
the ellipsoid

and

In no way corrects for the decrease of gravitational acceleration with distance ffom

the center of the Earth

Is done only for the measurement station, that is floating in air above the ellip

boid

98. In general, Bouguer anomalies over mountain ranges where the crust is unusually thick

A)
B)
)
D)

99. According to the Airy-Heiskanen model of isostatic compensation:

A)  An upper layer of the Earth “floats” on a denser magma-like substratum, jupt as
icebergs float in water.

B) The height of a mountain above sea-level is much less than the thickness of the
crust underneath it.

C) When the densities of the crust and mantle are assumed to be constant] the
thickness of the root-zone of a mountain varies in proportion to the elevatign of
the topography.

D) All ofthe above

100. The reflected seismic data is used mostly for:

A) Magnetite exploration

B) Oil and Gas exploration

C) Ilmenite exploration

D) Uranium exploration

(62) (A) (23) [P{T.O.

Are mildly Positive
Are strongly Positive
Are negative

None of the above
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